
La	
  résistance	
  
	
  
•  Propriété	
  des	
  pe,tes	
  artères	
  (artérioles)	
  

•  Permet	
  de	
  contrôler	
  le	
  débit	
  de	
  sang	
  vers	
  les	
  différents	
  
organes	
  :	
  

•  La	
  résistance	
  augmente	
  si	
  :	
  

•  Avec	
  l’âge,	
  la	
  viscosité	
  du	
  sang	
  augmente	
  et	
  les	
  pe,tes	
  
artères	
  rétrécissent.	
  Donc,	
  la	
  résistance	
  augmente	
  avec	
  
l’âge.	
  

•  En	
  pra,que,	
  la	
  résistance	
  se	
  calcule	
  avec	
  la	
  formule	
  
suivante	
  :	
  

	
  

o  si	
  la	
  résistance	
  est	
  grande,	
  le	
  débit	
  de	
  sang	
  
est	
  faible,	
  

o  la	
  viscosité	
  (=	
  adhérence)	
  du	
  sang	
  augmente	
  
o  la	
  longueur	
  des	
  vaisseaux	
  augmente	
  

	
  
o  le	
  diamètre	
  des	
  vaisseaux	
  diminue.	
  

o  si	
  la	
  résistance	
  est	
  pe,te,	
  le	
  débit	
  de	
  sang	
  
est	
  important.	
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Résistance	
  

Âge	
  

Débit	
  cardiaque	
  
Pression	
  artérielle	
  moyenne	
  

Calculez l’âge de vos artères 
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Les	
  artères	
  ont	
  deux	
  grandes	
  propriétés	
  :	
  	
  

La	
  compliance	
  (=	
  élas9cité)	
  
	
  

•  Propriété	
  des	
  grandes	
  artères	
  (aorte)	
  

•  Permet	
  de	
  stocker	
  du	
  sang	
  dans	
  l’aorte	
  et	
  de	
  le	
  libérer	
  
lorsque	
  le	
  cœur	
  n’éjecte	
  pas.	
  

•  La	
  compliance	
  augmente	
  si	
  :	
  

•  Avec	
  l’âge,	
  l’élas,cité	
  des	
  vaisseaux	
  diminue	
  et	
  les	
  
grandes	
  artères	
  rétrécissent.	
  Donc,	
  la	
  compliance	
  
diminue	
  avec	
  l’âge.	
  

•  En	
  pra,que,	
  la	
  compliance	
  se	
  calcule	
  avec	
  la	
  formule	
  
suivante	
  (PA	
  =	
  pression	
  artérielle)	
  :	
  

o  l’élas9cité	
  des	
  vaisseaux	
  augmente	
  
o  l’épaisseur	
  des	
  parois	
  des	
  vaisseaux	
  diminue	
  

o  le	
  diamètre	
  des	
  vaisseaux	
  augmente	
  

Nous	
  allons	
  u,liser	
  ces	
  formules	
  et	
  calculer	
  la	
  résistance	
  et	
  la	
  
compliance	
  de	
  vos	
  artères	
  pour	
  connaître	
  leur	
  âge.	
  Pour	
  cela,	
  il	
  
faut	
  mesurer	
  :	
  
•  la	
  pression	
  artérielle	
  (avec	
  un	
  tensiomètre)	
  
•  la	
  fréquence	
  cardiaque	
  (à	
  la	
  main	
  ou	
  avec	
  un	
  tensiomètre)	
  
•  le	
  débit	
  cardiaque	
  ne	
  peut	
  se	
  mesurer	
  qu’en	
  observant	
  ce	
  qui	
  

se	
  passe	
  à	
  l’intérieur	
  du	
  cœur	
  (en	
  faisant	
  une	
  échographie,	
  par	
  
exemple).	
  Ici,	
  nous	
  allons	
  u,liser	
  votre	
  taille	
  et/ou	
  votre	
  poids	
  
pour	
  en	
  déduire	
  une	
  es,ma,on	
  du	
  débit	
  cardiaque.	
  

Aorte	
  et	
  artères	
  
élas,ques	
  

Oreillece	
  
gauche	
  

Contrac,on	
  du	
  
ventricule	
  
gauche	
  (systole)	
  
et	
  éjec,on	
  du	
  
sang	
  

Ecoulement	
  du	
  sang	
  	
  
vers	
  les	
  capillaires	
  

Ecoulement	
  sanguin	
  	
  
con,nu	
  vers	
  les	
  	
  
capillaires	
  

Relaxa,on	
  du	
  
ventricule	
  
gauche	
  (diastole)	
  
et	
  remplissage	
  
ventriculaire	
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Compliance	
  

Âge	
  

(PA	
  systolique	
  –	
  PA	
  diastolique)	
  ×	
  fréquence	
  cardiaque	
  
Débit	
  cardiaque	
  

Période	
  cardiaque	
  

Temps	
  

Pression	
  systolique	
  

Pression	
  moyenne	
  

Pression	
  diastolique	
  

Pression	
  artérielle	
  


